&¥lo

S 6EE HplEihigN\HZE R biEs FE (R)
U A _ (BN7 : 1)
E 18 = RS T2 |R67FE (X) I BT
1 &8 1 &i8% IR=EERS 49,511,000 50,527,000 1,016,000|ZNESEEEE
14,000,000 14,000,000 olitBEERAS
8,800,000 8,800,000 0| R T—F> )\
26,711,000 27,155,000 444,000/ BI8]
0 572,000 572,000(HBIE] (F+ v 1L RFEAD)
2 e 1 e 1 ##EhE 3,492,000 6,497,000 3,005,000
3,457,000 6,497,000 3,040,000 (HuiR T+ — 4 —ZFHIE (FE)
35,000 0 A 35,000 |=miRflifEEEEE#EE (H30~R5) (#&T#&EH)
3 fElE 1 e 1 e 6,057,122 o] A 6,057,122
4 ZEIAN 1 BN 1 BEAS 315,000 2,393,000 2,078,000 B &Rt FEHNSRAS
2 IREA 360,000 360,000 0
3 HMEUNA 723,878 724,000 122
723,000 723,000 O TERFE] 77U BRABIESD
878 1,000 122|FIFUNA
A SE 60,459,000 60,501,000 42,000
podan] _ _ _
= ] B RST& |R67PE (%) N B
1 %8 1 BHERE |1 28 0 0 0
2 BHEE 150,000 150,000 0
140,000 140,000 O|=mE
10,000 10,000 O|tIFEEHEES
2 BEE 1 BEHEE |1 EITEEDS 59,355,000 59,461,000 106,000
57,184,000 56,718,000 A 466,000 B TIRE
2,171,000 2,171,000 0| T&ERFE] PITUERTRE
0 572,000 572,000|F v v L RFEAS
2 ABEHEE 0 0 0
3 LERANEE 919,000 890,000 A 29,000
864,000 835,000 A 29,000|ER4 A 7EFZIZRENRI
55,000 55,000 O| IR ABER MR E
4 &8 0 0 0
3 Flm& 1 Fim& 1 P& 0 0 0
4 1B\ 1 EvvE 1 #Er® 35,000 0 A 35,000
A 60,459,000 60,501,000 42,000
S 6FEE Sl \HZEEE biigs BUERISETFE ()
U
R5FE& [R6F7E () B =2
RE 20,914,184 | 20,807,800 A 106,384
BAE 35,000 0 A 35,000|EinRMEENEEFEEMHhE
HEUA 816 200 A 616|FIFUA
INAEET 20,950,000 | 20,808,000 A 142,000
ol
R5F%E |R6FE () 1R lES
BE 315,000 2,393,000 2,078,000
Fdanr=r1 315,000 2,393,000 2,078,000
UNAEET =1 R6 FEXRFEKRS
20,808,000 - 2,393,000 = 18,415,000




